p
A candy cane costs less than
20p. How much could the
candy cane cost if you paid
with exactly 3 coins?

Rudolph put four stars on a tree.

He coloured each star either red or yellow.

In how many different ways can Rudolph colour the

four stars?

Monthly Maths Stars!
YI- Tilly Lsaoc- for fantastic
prohlem solving!

Y2- Roxann Edgar - for
putting so much effort into
all her Maths w.ork

E.ach rumber in the
Christmas tree is the
total of the two rumbers
below it. Can you fll in




Choose from these numbers.

Can you drow . Christmas

Tree that has:
Pick a pair of numbers. e

Add them together. . 8 haubles
Write the numbers and the answer.
. 1 presents underneath
Pick a different pair of numbers. .12 fairy lights

Write the numbers and the answer.
. b stars

Keep doing it. 1 fairy on the top

How many different answers can you get?

Now take one number from the other.
How many different answers can you get now?

ere < T

Santa wanted to make some gingerbread men.
He had 27 red samaorties to wse as bhuttons.
How many gingerbread men can Santa .make if
each need 3 huttons?

An elf ate 3 of the smarties! How .many
gingerhread .men can Santa .make now?




